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(i)  137% Tt 3971 & I/ U 918 & Uk qIaFT % 51 |
(i) 8 37P] Tt Fo1 & IR 50 - 75 551 & &1 [

(iii) 4-5 37H] FTct Fe71 & I T 150 75571 & &7 /
(iv) 6 37 aret JFI 3 I TTHT 200 755 & 57 /

(v) T Yo & Y YT Grg-arg & g7 HT |

General Instructions :

(1) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iii)) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. ‘S & YEeEE | e AN R 2
What is meant by ‘Management of Work’ ?

2. ‘gra-sremEe’ g o Futfa forem ST g 2
What is determined by ‘Time-Study’ ?

3. ¥IE™ & Taftres waieer’ 4w wfmiferd gar 8 2 Scoi@ it |

What is included in ‘Legal Environment’ of Business ? State.

4.  JISFI % Th YR b €9 # Fafer’ w1 a1 @ |
Give the meaning of ‘Method’ as a type of plan.

5. MU 3TqT0 & Ueh dvd o &9 H ITEIRIcd ol 319 TN |

Give the meaning of ‘Responsibility’ as an element of delegation.
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11.

12.
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Ye= o Ueh 1A o ®9 H TIST hl GRATNG hIfT |

Define ‘organizing’ as a function of management.

I Gied Wdl & 3Tdieh @ldi b 39ANT hid @ dl hHerl frd JhR 9d
frsarea # gunr & fore Afidfia g § 2 Seo@ i |

How are employees motivated to improve their performance when the

organization uses internal sources of recruitment ? State.

‘“FHATRET I HeAU T AN AT YGH HHT THEG TEeH Ja-g g
faomifeq < o= areft fafe franeti # 9w @ | 999 wEeE Yeeg A = Q@
fafsre fopamd sramu |

‘Providing for social security and welfare of employees’ is one of the
specialised activities performed by Human Resource Management.
Mention any two other specialised activities of Human Resource
Management.

TEIYUT & Teh dwd o €9 § Tasied’ (fespifem) =1 wm a1ef B 2

What is meant by ‘Decoding’ as an element of communication ?

“GrSATcHes ITarer bl UHt s @ foRivdnd sqisu S ARl & S¥dER Wb
YHTferd hidl & T Ueh o™ TcHTe o ®9 H 1 il & |

Give any two characteristics of ‘Organizational Climate’ that influence

the behaviour of individuals and act as a non-financial incentive.

“forfia sifew’ & == sTfio 2§ 2

What is meant by ‘Financial Risk’ ?

‘o o=’ o 3T T Sooi@ HINT |

State the objective of ‘Financial Management’.
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14.

15.
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BHT Toh HFOH1 H TR HTUR W $RRAG & | 1 G0 o 3TER 39 e #
8 H¢ HR HAT IS @ TAT I8 A FTOIAR HIGREZH HL Gehell off | FHT A
Jratersd il fopat, eh SR a8 SR &1 T8 3R 38 9 R 8 gl ol
agt | foret o ot 3Heh IR A fodr &1 bl 31 A 21 3Weh! HEd % 9N H IS
%1 | 3G I8 HEYH §IT Toh I8 3TN F SAERIRATHT I & T L 1 @ off
Sefeh 3G FB T ATaTIRATT 31t o 31quf @ S of |

()  39Yh 3deoq H UfRAl I 3gd L gL AT 1 I AERIBAI hl

TEETY e o8 G L Eehl 8 |

(i) I9Yh SEAIHATAI b G M AT BHT hl I & SEAIRATHAT Bl Al
TrgTST St 3 o7t off HaE e W R |

Huma is working in a company on a permanent basis. As per the job
agreement she had to work for 8 hours a day and was free to work
overtime. Huma worked overtime, due to which she fell ill and had to
take leave from her work. No one showed concern and enquired about her
health. She realised that she was fulfilling only some of her needs while
some other needs still remained to be fulfilled.

(1) By quoting the lines from the above para, identify the needs of
Huma which she is able to fulfil.

(i1)  Also explain two other needs of Huma followed by the above needs,
which still remained to be satisfied.

Tsh WdeTsh g0 TF9e Ty I ot U fohegl 9 shiai ohl THHATST ST femd
e o foru stfq-smawee 8 |

Explain any three functions performed by a supervisor that are vital to
any organization.

‘wish TS haet e 9fg # & erur AneH T g, g o Wgd @
T GF9~ KT & | Ul fopegl 9 1l ol 99esy |

‘Stock Exchange not only contributes to the economic growth, but
performs many other functions.” Explain any three such functions.
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16. U SHM ATCH Teh o] TS shepd fafmee o feamelt & 9@ % U 3c1e
IR # Teqd fohu, @ 95 & wmesh Thiia gU | 9 g2 Wi B gU B b
T HEet 4 A9 o 39 el ¥ AN 1 HH T E R J7T a9ga Afah
U off | o= g1 HHETET o T 3T FdgR & HIU SIE 8 TIC
A A M T ARG A | ik Icaral sl SR H Sgd 3tk Hi eff,
Tk Uil 9 Icrel hl Aohed KT ol | Ifaat o IcUTel hl IUHIRIAT 4 TR
& fera Rifep et o HRuT TS shehd fotfiee o IcuTel Sl @il s

T Udteh HHET ST AT |

(31) Icure-Hredl 39 HEwyul v @l ggente @ awsmsy e www
IR 3 TS shepd fafiree o 3cure <l afiFan & |

(@) @ el @ geat o ot wgEif 9w sheed fafiees T
gEIfyd T TR 8 | 3

ABC Crackers Ltd., a fire-cracker manufacturing company launched

some new products on the eve of Diwali in the market, which attracted
many buyers. To meet the increased demand the company employed
people from nearby villages where there is a lot of unemployment.
Because of the good behaviour of the management with the employees,
more and more people wanted to join the company. As the products were
in great demand in the market, a competitor imitated the products. The
products of the competitor were not accepted by the consumers as it was
a status symbol to buy the products of ABC Crackers Ltd. because of
their quality.

(a)  Identify and explain the product-related decision because of which

consumers preferred the products of ABC Crackers Ltd.

(b)  Also identify any two values which ABC Crackers Ltd. wanted to
communicate to the society.

17. SUMIHT ER&TT ARITH, 1986 & IT=qild ITHIRAT <l IUTeY fohral ©: WAl
Ioeoig i | 3

State any six reliefs available to a consumer under the Consumer
Protection Act, 1986.
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18.

19.
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SUNIRISTT o fefeTRad TRl b1 Ui HIfT
(1) Iuvrh e o sAfusr

(i) = H AHR

Explain the following Rights of Consumers :

(1) Right to Consumer Education
(i1))  Right to Choose

T fafiee aietdied o1 fmior = @ oft | hrat g 39k d=Ted o YW aY

# IfSid T Shaet Ehl AFTAl Wl & IU i o T qte off | 3 @l agH

% TOTT et 4 W 1™ o SR i faversr foRan | faweror & gt SRt A

ol foran

(i) oW ANd B HH HH & fou 3@ Fmivh g = W@ fuse & A
TN L e ST 78T wogdl 915 A o1 W 39Ted F |

(i) R FeRged & v 3& fer e s - fooieht ama
TTeTEe™ ol IcUTeT A fohdT ST |
$99 1 had SINgwl & gean fuerft, :ifug o 3eei i gfd # ot Aeg
gl |

() 39 afd Tery o Ievdl 1 YT T HHEST |

(|) UH T oAl 1 oo T ST HEGHT FHTS I TEINT HET =mad @ |

Mega Ltd. was manufacturing water-heaters. In the first year of its
operations, the revenue earned by the company was just sufficient to
meet its costs. To increase the revenue, the company analysed the
reasons of less revenues. After analysis the company decided

1) to reduce the labour cost by shifting the manufacturing unit to a
backward area where labour was available at a very low rate.

(i1) to start manufacturing solar water-heaters and reduce the
production of electric water-heaters slowly.
This will not only help in covering the risks, but also help in
meeting other objectives too.

(a) Identify and explain the objectives of management discussed
above.

(b)  State any two values which the company wanted to communicate
to the society.



N

20. ‘SHFETRIes YATIROT <hl TTUTO qT 38kl fohal di9 famIdTaTi sl ¥H=sy |

Explain the concept of ‘Business Environment’ and any three features of
it.

21. Hdl o Tl GIdi o foheal IR ATHI T Ioid <hIfaT | 4

State any four advantages of external sources of recruitment.

22, foxie yerg & Faw wg ‘foxitwa’ ot <1 3o &S | 4

Give the meaning of ‘Investment’ and ‘Financing’ decisions of financial
management.

23. T < fongl uia famiwarst <1 Ieai@ hifSu | 5

State any five features of planning.

24, IS IO 3R ggT aeR # FrefeifEa smuii W stavg I 5
(i) o7
(i) et
(iii) G
(iv) oTafera wfawa
(v) @y

Differentiate between ‘Capital Market’ and ‘Money Market’ on the basis
of the following :

(1) Meaning

(i1)  Liquidity

(iii) Safety

(iv) Expected Return

(v) Duration
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26.
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“Fufheh Tasha’ o1 9T 319 B ? Ueh 31 Toshal o fohegl ofiFl T[UTT oh! THETST |

What is meant by ‘Personal Selling’” ? Explain any three qualities of a
good salesman.

R T B o G TR I & | Th 1 Hd § foh Ja-9 Sl HHATET &
1Y AT T e’ AT =AMMGY, Tafch gL h1 GHE 2 fob =il 1 whagfd
SHEGT T U AT W R T =R qen 97 3 Wi Sfied TR YeH
et BT =Y |

3T TfeRe H Sfcdfad %Al Td oR o gl sl Igare Td Jusmsy |

Principles of Taylor and Fayol are mutually complementary. One
believed that the management should share the gains with the workers,
while the other suggested that employees compensation should depend on
the earning capacity of the company and should give them a reasonable

standard of living.

Identify and explain the principles of Fayol and Taylor referred to in the
above para.

TR T A= e § (efefigd smuml w et=avie hifve
i) o

(i) 3™
(Gii)  3TfEepR
(iv) oIg8R

(v) YU k1 a1

(vi)  epid

HAYAT

Th TS H Tohegiohtol’ o Wewd i fohral =R foieg3tl sh! Hemdl § SHesy |

8
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28.

29.
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Differentiate between formal and informal organization on the basis of
the following :

) Meaning
(i)  Origin
(ili)  Authority
(iv) Behaviour
(v)  Flow of communication
(vi)  Nature
OR

With the help of any four points, explain the importance of

‘Decentralization’ in an organization.

o T T & Aey SIEt gFey sl HETST | 6
HAAAT

Tr=Tor 31 Wfska o oy =Roll sl |9ETsy |

Explain the relationship between planning and controlling.

OR

Explain the various steps in the process of controlling.

HrEfie ISht I STEvThdT Sl IHIFId i dTct awdi o &9 H FHHfeiad i
SRS hHIT 6
(i)  SAIEE h Yol
(i) EEEE &R
(i)  HiEH T
(iv) 39l <sh

AT

ISt TET % 99 I YWIAd i dTel dwl o €9 § HERgd i SATE

HIfST -
(i) ke vaTg feufd

(i)  gHdT 6l AT
(iii) Yadd @nTd

(iv) S S9N <kl o
9 P.T.O.



Explain the following as factors affecting the requirements of working
capital :

(1) Nature of business
(i1)  Scale of operations
(1i1) Seasonal factors

(iv)  Production cycle

OR

Explain the following as factors affecting the choice of capital structure :
(1) Cash flow position

(ii))  Cost of equity

(iii)  Floatation costs

(iv)  Stock-market conditions

30. fouum & f=fafga srt i saren fifse

i) 3T o T (f9me) @ fowm

(i)  THTHRTOT U SOfietur ST

(iii) T8 EEEAT a4

(iv) 3cq1gl sl Hed-Hemm

AT

Tl foe IEqaT Td HAT3Ti o YadH o O T: STcA(eh TN H 1T A
1ol HIEHl H ° T g, q91Y I8 Sgd-Hl SISt i FAEd wLal g |’ H
forgl 9 TTA=ATST ! US|
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Explain the following functions of marketing :
) Product designing and development

(ii)  Standardization and Grading

(i1i) Customer Support Services

(iv)  Pricing of products

OR

‘Though advertising is one of the most frequently used media of
promotion of goods and services, yet it attracts lot of objections.” Explain
any four such objections.
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